Pre-Calculus Test Chapter 4 Part 1

answer in terms of 7.
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2 Find the exact value of cos 30°.
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.~ Rewrite the angle measure in radians. Leave

Name: *\E— Y Per.
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3 A water sprinkler sprays water on a lawn over a

distance of 12 feet and rotates through an angle
of 135°. Find the area of the lawn watered by the
sprinkler. Leave answer in terms of 7.
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State the quadrant in which € lies. " Angle of Elevation You are skiing down a
mountain with a vetical height of 1,500 feet. The

sin@> 0 and tan @ < istance from the top of the mountain to the base
nd>0andtanf <0 di fi I f'th i he b
0 is 3,000 feet. What is the angle of elevation from
W = %: % = :’ E; the base to the top of the mountain in degrees?
< SEN Explain.
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Use trigonometric identities to transform the left
side of the equation into the right side.

cotasina =cos o
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Find the exact value of cos @ with the given

constraint.
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*{ﬁ Solve for x.
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11 Find two solutions of the equation. Give your
answer in degrees.
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12 Find the exact values of the six trigonometric
functions of the angle 6.
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Solve for x.

~ Railroad Grade

What is the vertical rise of a

train that travels 3.5 kilometers on a straight track
with a 1° angle of elevation?

Example answer: 4.7tan(5°)
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Find the exact value of sin225°.
225580 Ths 16  Use trigonometric identities to transform the left
| side of the equation into the right side.
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A truck is moving at a rate of 30 kilometers per
hour, and the diameter of its wheels is | meter.
Find the angular speed of the wheels in radians
per minute.
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Find the reference angle of & in degrees.
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19 Rewrite the angle measure in degrees.
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20 What is the first coterminal angle less than 2; ?
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